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h 1d !D.GjA5lk~| 2�N~|Xt f(x)rM(k%f(x) = j sinh(ax)j = ����eax � e�ax2 ���� (�� < x � �; aO5Njt )1. f(x)N#GU<j(itraah%2. 0dNkLrQ$F$f(x)NBU<j(itraah%3. f(x)NU<j(itrQ$F$it1Xn=1 1 + (�1)n�1 
osh(�a)n2 + a2
raah%4. Q<;PkNy0rQ$F$it1Xn=�1�1 + (�1)n�1 
osh(�a)n2 + a2 �2
raah%� �1. f(x) = 1Xn=�1 
neinx

Jf(x)O"3XtG"k3HKmUKH*/H$
n = 12� Z ��� f(x)e�inxdx = 12� Z �0 sinh(ax)e�inxdx� 12� Z 0�� sinh(ax)e�inxdx;Z �0 sinh(ax)e�inxdx = 12 Z �0 fe(a�in)x � e�(a+in)xgdx = 12 (�1)ne�a � 1a� in + 12 (�1)ne��a � 1a+ in ;Z 0�� sinh(ax)e�inxdx = 12 Z 0��fe(a�in)x � e�(a+in)xgdx = �12 (�1)ne��a � 1a� in � 12 (�1)ne�a � 1a+ in
Khj$ 
n = 12� 12 [f(�1)ne�a � 1g+ f(�1)ne��a � 1g℄� 1a+ in + 1a� in�= af(�1)n 
osh(�a)� 1g�(n2 + a2) :) f(x) = a� 1Xn=�1 (�1)n 
osh(�a)� 1n2 + a2 einx:2. 0dNkLhj$f(x) = 1�af
osh(�a)� 1g+ 1Xn=1 (�1)n 
osh(�a) � 1a2 + n2 (einx + e�inx)= 1�af
osh(�a)� 1g+ 2a� 1Xn=1 (�1)n 
osh(�a) � 1n2 + a2 
osnx: (1)1



3. 0 (1)K x = 0re~7F$0 = 1�af
osh(�a) � 1g+ 2a� 1Xn=1 (�1)n 
osh(�a)� 1a2 + n2 ;) 1Xn=1 1 + (�1)n�1 
osh(�a)n2 + a2 = 12a2 f
osh(�a)� 1g:4. Q<;PkNy0hj Z ��� jf(x)j2dx = 2� 1Xn=�1 j
nj2;
J8UK= Z ��� sinh2(ax)dx = 2 Z �0 sinh2(ax)dx = 12 Z �0 (e2ax � 2 + e�2ax)dx= 12a sinh(2�a)� �;
J&UK= 2a2� 1Xn=�1 1Xn=�1�1 + (�1)n�1 
osh(�a)n2 + a2 �2

Khj$ 1Xn=�1�1 + (�1)n�1 
osh(�a)n2 + a2 �2 = �2a2 � 12a sinh(2�a)� �� :� �
h 2d dfXt sgnx =8<:1 ( x > 0 )�1 ( x < 0 )
N-Ay,raah%� �

$UNF9HXt g(x)KP7$Z 1�1 sgn0x g(x)dx = � Z 1�1 sgnx g0(x)dx= � Z 10 g0(x)dx + Z 0�1 g0(x)dx= 2g(0) = Z 1�1 2Æ(x)g(x)dx
HJk+i sgn0 x = 2Æ(x):
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